A ISP I TR SRS

| HEVEF
& 7 ik
SO ARy

PartA(SOn)%W”’?@ﬁiﬁiﬂl TP - T 7SI R © 5 24 5

7]

L. Il Correlation(X,Y)=p - }[| Correlation(aX, bY-+c)=(1) °
1. Fﬁﬁfai&fi—l prE Y T IF R o BT S A SHHF RV AN E
S
N Mean Std Dev Minimum Maxmum pr> | t |
40 —0.123 0.520 -0.374 0.285 0.120

(a). Tyﬁ%’fﬁi%ﬁfo: <0 %fHi: ¢ >0 VPlEE )
(b).ﬁﬁ%’l’ﬁ%r%}‘l{o 02 0 3%5fHi p <0 Vpffikh (3) -

III~iEJE I R B A B S L SRR e B i&lﬁﬂhﬁﬁg
( a#lwlﬁ BT (o) /Y /@QWEWH (T Ew@ B}
NG
(a). @l :ﬁﬂwlﬁﬁv TR L () (P ﬁ% [fl'r[)
(b)) YMHANFT > "¢~ = T E - *F'T ﬁﬁ“@%ﬁgv[[m
(TR F /G 10 [w » %= - )

IV. 3G 100 (WY VR B I8 T w py 95%[F,¢%*Earé%t (-2.95, 0.75) °

Mtd s w=0 A =0 aOOl’E‘Ubég_l(ﬁ Tﬁ ﬁ%%
- I ) R

V. ?@ﬁJZ:I 3Z.0-0.4Z 4 € 0 B e)=0 » [ ERSRASE RIS - TE
A5 [ B S 0 (750,02, -0.08, -0.03, 0.10, 0.03 > F]
PRETERR ™ — W LV EPE (D) -

VL. I@?ﬂgl'ﬁxwﬂ?ﬁiﬁﬁﬁ A Nm VRS 00 ~N(, 07)
(2). EQO=(8) (F15 12 ¥ 0 Vi)
(b). Prob(X>K)=(9) » K¥& i e
(FRHELNC) > 127 0 Ve NCYEL N, edf)

VIL F— ZevR =1 o) fli i 455 > i 605 » 25 155 m“glrf 465 > 75
m G 515 F" [Box-PlotH it ER (10) (F[R91< e g [ ke
E‘f’[’?ﬂo

Part B (30 73) * SWEIAIFY A IPIRERE » TR IR © 8 e 3

71



LRSS R R ORI I 32 0
YIS < EERXiosre UEESIRE] Y=+ 6 A+

81 e 11d N(
a) F BV LT HFEE-1.0 0 5 (X-D'=30 - FA S FIANOVAZR ;
Source SS MS F
JFIER(SSR) (1) (2) (3)
Y27 (SSE) 270 4)

b)

©) @=0.05 > BHERYE il AL WA © (5) LS Pii-
I

d) fjﬁ = i o "V I ﬁrl;!ﬁ :

e) B E [ﬁlﬁ[ (1)

f) r(Sample correlation coefficient between X and V)= (8) °

g) R'(CoefX X WAHEL (10) °

Part C (20 75) : % EFETJ{_}IE R PR A L':r F[E'lﬁ 7o B 10

7J°

I. A firm has decided to select one of two express delivery services to provide next-
day deliveries to to the district offices. To test the delivery times of the two services,
the firm sends two reports to a sample of 8 district offices, with one report carried
by one service and the other report carried by the second service. Data are shown on
the following table:

District Office Service A Service B
1 28hrs. 23hrs.
2 17 13
3 12 15
4 25 26
5 18 16
6 20 21
7 9 11
8 19 15

Compute the Wilcoxon Singed-Rank test statistics.
II. A leading institution supplied the following data on loan approvals by three loan
officers. Usea=0.05 to test whether the loan approval decision is independent of
the loan officer reviewing the loan application.

Loan Approval Decision

Loan Officer Approved Rejected
A 25 20
B 20 15

C 35 25






